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NEW QUESTION 1

How should a web application be designed to work on a platform where up to 1000 requests per second can be served?

A. Use algorithms like random early detection to deny excessive requests.

B. Set a per-user limit (for example, 5 requests/minute/user) and deny the requests from the users who have reached the limit.
C. Only 1000 user connections are allowed; further connections are denied so that all connected users can be served.

D. All requests are saved and processed one by one so that all users can be served eventually.

Answer: D

NEW QUESTION 2

Which two data encoding techniques are supported by gRPC? (Choose two.)

A. XML

B. JSON

C. ASCII

D. ProtoBuf
E. YAML

Answer: BE

NEW QUESTION 3
DRAG DROP

Resource Owner

User Agent Authorization
(Browser) Server

T

OAuth2 three-legged authorization code grant.

Refer to the exhibit. Drag and drop the steps from the left into the correct order of operation on the right for a successful OAuth2 three-legged authorization code

grant flow.
Select and Place:

Answer Area

Cliant iniiates the flow, step 1
The authonzation server authenicales ihe cient,
validales details sent, and responds with an a step 2
loken
The authonzation senver redirects the user-agent step 3
back 1o the client using the redirection URI provided ?
The authorization server authenticates the resource
slep 4
oWner
The ckent requests an access token from the
authorization server’s token endpoint. slep &
A. Mastered

B. Not Mastered
Answer: A

Explanation:
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Answer Area

Chent initiates the flow. Chent infiates the fiow.

" The aifhonzalion server awhenlicales the chent, T
validates details sent, and responds with an access; The authorization setver redirects the user-agent

ity pack to the client using the redirection URI provided
The authorization server redirects the user-agent ‘The authorization server authenticates the resource
back (o the chent using the redirection URI provided owrner
The authorization server authenticates the resource The chient requests an access foken from the
OWNEr. authorization server's token endpoint
_ The aforzalion Sarver sifenicaies e .
The client requests an access token from the he authorization server authenticales the client,
authorization server's loken endpoint. \validates details sent, ﬁ;ﬂm with an amﬁ]

NEW QUESTION 4
Which two methods are API security best practices? (Choose two.)

A. Use tokens after the identity of a client has been established.
B. Use the same operating system throughout the infrastructure.
C. Use encryption and signatures to secure data.

D. Use basic auth credentials over all internal API interactions.
E. Use cloud hosting services to manage security configuration.

Answer: AC

NEW QUESTION 5
A developer has completed the implementation of a REST API, but when it is executed, it returns a 401 error message. What must be done on the API to resolve
the issue?

A. Access permission to the resource must be granted, before the request.

B. Configure new valid credentials.

C. The requested API endpoint does not exist, and the request URL must be changed.
D. Additional permission must be granted before the request can submitted.

Answer: D

NEW QUESTION 6
A user is receiving a 429 Too Many Requests error. Which scheme is the server employing that causes this error?

A. rate limiting
B. time outs
C. caching

D. redirection

Answer: A

NEW QUESTION 7

A client is written that uses a REST API to interact with a server. Using HTTPS as the transport, an HTTP request is sent and received an HTTP response. The
response contains the HTTP response status code: 503 Service Unavailable.

Which action is the appropriate response?

A. Add an Authorization header that supplies appropriate credentials and sends the updated request.

B. Resend the request using HTTP as the transport instead of HTTPS.

C. Add an Accept header that indicates the content types that the client understands and send the updated request.

D. Look for a Retry-After header in the response and resend the request after the amount of time indicated.

Answer: A

NEW QUESTION 8
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Application AFI Service

Clientd | GET /vl/api/articles/123

HTTP/1.1 200
ETag: “17£0fff99eds~ #2
{*title™: “Monday Headlines"]}

Client 2 GET fvlfapifarticles/123

HTTE/1.1 200
ETag: “1Tf0f£f9%d5" #d
! {*title”: “"Monday Headlines"}

_________________________-.‘

FUT Svil/api/articles/f123
Client] | 1f -Match: “17f0ff£9%9ads
(*title”: "Top Headlines")

HTTP/1.1 200
ETag: “109890d0980£~ #6

. PUT fvlfapi/farticles/ /123
Client2 | ;¢ \atoh: “17£0£££990d5 .
{*title”: “Today Headlines”]

HTTE/1.1 412 #6

Refer to the exhibit. Two editors are concurrently updating an article’s headline from their mobile devices. What results from this scenario based on this REST API
sequence?

A. The article is marked as “Conflicted”

B. The article headline is “Monday Headlines”
C. The article headline is “Today Headlines”
D. The article headline is “Top Headlines”

Answer: B

NEW QUESTION 9

response = requests.get(url)

if response.status code != 200:
error message = “Unexpected HITP Response code: {}”.format(response.status code)
raise Exception(error message)

data = response.json()

Refer to the exhibit. This snippet of a script has recently started exiting abnormally with an exception stating “Unexpected HTTP Response code: 429". Which
solution handles rate limiting by the remote API?

A response = requests.get(url)

if response.status code == 429:
backoff seconds = int(response.headers['Retry-After’])
sleep (backoff seconds)
elif response.staiﬁs_code I= 200:
error message = “Unexpected HTTP Response code: {}”.format (response.status code)
raise Exception(error message) B
data = response.jscn()

response = requests.get (url)

if response.status code != 200 and response.status code != 429:
error message = “Unexpected HTTP Response code: {}”.format (response.status code)
raise Exception(error message)

data = response.json()

response = requests.get(url)
if response.status code != 200 and response.status code != 429:
backoff seconds = int(response.headers[‘Retry-After’])
sleep(backuff_seconds}
error message = “Unexpected HTTP Response code: {}".format (response.status code)
raise_Exceptinn[erru;_message} -
data = response.json()
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response = requests.get(url)
if response.status code == 429:
backoff seconds = int(response.headers|[‘Retry-After’])
sleep (backoff seconds)
response = reﬁuests.get{url}
elif response.status code != 200:
error message = “Unexpected HTTP Response code: {}”.format(response.status code)
raise Exception(error message)
data = response.json()

Answer: D

NEW QUESTION 10
Refer to the exhibit. Which set of API requests must be executed by a Webex Teams bot after receiving a webhook callback to process messages in a room and
reply with a new message back to the same room?

A. GET /Imessage&roomld=<ROOM_ID>

POST/messages
{ “roomld :"<ROOM_ID>" , “text” :<MESSAGE>"}

B. GET/messages&mentionedPeople=me&roomld=<ROOM_ID>

PUT /Imessages
{ “roomld :"<ROOM_ID>" , “text” :<MESSAGE>"}

C. GET/message&roomld=<ROOM_ID>

PUT /messages
{ “roomld :"<ROOM_ID>" , “text” :<MESSAGE>"}

D. GET /messages&mentionedPeople=me&roomld=<ROOM_ID>
POST/messages
{ “roomld :"<ROOM_ID>" , “text” :<MESSAGE>"}

Answer: B

NEW QUESTION 10
Into which two areas are AppDynamics APls categorized? (Choose two.)

A. application-centric
B. analytics-events
C. database-visibility
D. platform-side

E. agent-side

Answer: DE

NEW QUESTION 11
A web application is susceptible to cross-site scripting. Which two methods allow this issue to be mitigated? (Choose two.)

A. Use only drop downs.

B. Limit user input to acceptable characters.

C. Encrypt user input on the client side.

D. Use AES encryption to secure the script.

E. Remove all HTML/XML tags from user input.

Answer: BD

NEW QUESTION 16
A developer has just completed the configuration of an API that connects sensitive internal systems. Based on company policies, the security of the data is a high
priority. Which approach must be taken to secure API keys and passwords?

A. Embed them directly in the code.

B. Store them in a hidden file.

C. Store them inside the source tree of the application.
D. Change them periodically.
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Answer: D

NEW QUESTION 18
Which tow actions must be taken when an observable microservice application is developed? (Choose two.)

A. Know the state of a single instance of a single service.
B. Place “try/except” statement in code.

C. Place log statements in the code.

D. Use distributed tracing techniques.

E. Deploy microservice to multiple datacenters.

Answer: BC

NEW QUESTION 20
Which type of file is created from issued intermediate, root, and primary certificates for SSL installation on a server?

A. DER
B. CSR
C. PEM
D. CRT

Answer: C

NEW QUESTION 23
The response from a server includes the header ETag: W/"7eb8b94419e371767916ef13e0d6e63d”. Which statement is true?

A. The ETag has a Strong validator directive.

B. The ETag has a Weak validator directive, which is an optional directive.

C. The ETag has a Weak validator directive, which is a mandatory directive.
D. The ETag has a Strong validator directive, which it is incorrectly formatted.

Answer: B

NEW QUESTION 26

An automated solution is needed to configure VMs in numerous cloud provider environments to connect the environments to an SDWAN. The SDWAN edge VM is
provided as an image in each of the relevant clouds and can be given an identity and all required configuration via cloud-init without needing to log into the VM
once online.

Which configuration management and/or automation tooling is needed for this solution?

A. Ansible

B. Ansible and Terraform
C. NSO

D. Terraform

E. Ansible and NSO

Answer: E

NEW QUESTION 28

— name: I05 ¥E Configuration
hosts: ios xe
connection: local
gather facts: false

tasks:
— name: I05 NTP
ios ntp:

provider: “{{ creds }}~”
server: 10.0.255.10

source int: GigabitEthernet?2
logging: false

Refer to the exhibit. Which key value pair from the ios_ntp Ansible module creates an NTP server peer?
A. state: present

B. state: True

C. config: present

D. config: True

Answer: A

NEW QUESTION 30
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